10 | ) 8 | / | 6 | S | 4 | 3 | 2 1

BILL 0OF MATERIALS
ITEM] QTY. | U/M | PACKING ISP INT | DESCRIPTION
1 1 EA MUFFLER SECTION H
2 1 EA DRIVER SIDE REAR TIP PIPE
3 1 EA PASSENGER SIDE REAR TIP PIPE
4 2 _EA CLAMP-2 1/2” BAND
5 2 _EA BOLT- 3/8-16 x 1 3/4”
6 2 _EA NUT- 3/8-16 STOVER LOCK G
7
8
'__

BBE |

BILLY BOAT EXHAUST

I [ [ [
EBURR ALL SHARP EDGES| REV. | DATE |ECN. NO] BY B
o AR W

HUMMER H2 TRUE DUAL 6.0L 2007
UNLESS OTHERWISE NOTED:
DO NOT SCALE DRAWING

HOLD ALL DECHAAL Diensions 1oy [SCALEINTS DWN. AWl
Yo = 0030 DATE: 9-28-06 SHTs 1 OF 1
XX = 10,010 APPROVAL DATE: [APPROVED BY:

UNAUTHIORIZED USE, REPRODUCTION R .
wanuracTuRe N whoLe ok N parT | Billy Boat Performance Exhaust A

IS PROHIBITED. DRAWING, DESIGN AND

DTHER DISCLOSURES ARE PROPERTY OF UNIT(S) | JOB NUMBER: | DRAWING NO.
INCH FTRUOS60
10 | 9 8 / 6 ) | 4 | 3 | ) | 1

Rely only on high-grade performance exhaust systems on our virtual shelves.


AutoCAD SHX Text
A

AutoCAD SHX Text
10

AutoCAD SHX Text
9

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
G

AutoCAD SHX Text
H

AutoCAD SHX Text
10

AutoCAD SHX Text
9

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
UNIT(S)

AutoCAD SHX Text
APPROVAL DATE:

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
JOB NUMBER:

AutoCAD SHX Text
APPROVED BY:

AutoCAD SHX Text
DWN.:

AutoCAD SHX Text
SHT.:

AutoCAD SHX Text
REV.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
E.C.N. NO.

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
BY

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
G

AutoCAD SHX Text
H

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
BILL OF MATERIALS

AutoCAD SHX Text
PACKING ISP INT

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
U/M

AutoCAD SHX Text
HOLD ALL DECIMAL DIMENSIONS TO;

AutoCAD SHX Text
HOLD ALL FRACTIONAL DIMENSIONS TO %%P1/16

AutoCAD SHX Text
X.XXX = %%P0.010

AutoCAD SHX Text
X.XX = %%P0.030

AutoCAD SHX Text
X.X = %%P0.050

AutoCAD SHX Text
UNLESS OTHERWISE NOTED:

AutoCAD SHX Text
SPECIFICATIONS OF TOLERANCES:

AutoCAD SHX Text
DO NOT SCALE DRAWING

AutoCAD SHX Text
OTHER DISCLOSURES ARE PROPERTY OF

AutoCAD SHX Text
IS PROHIBITED. DRAWING, DESIGN AND

AutoCAD SHX Text
MANUFACTURE IN WHOLE OR IN PART

AutoCAD SHX Text
UNAUTHORIZED USE, REPRODUCTION OR

AutoCAD SHX Text
DEBURR ALL SHARP EDGES

AutoCAD SHX Text
9-28-06

AutoCAD SHX Text
HUMMER H2 TRUE DUAL 6.0L 2007

AutoCAD SHX Text
FTRU0560

AutoCAD SHX Text
1 OF 1

AutoCAD SHX Text
AWL

AutoCAD SHX Text
NTS

AutoCAD SHX Text
INCH

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
EA

AutoCAD SHX Text
MUFFLER SECTION

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
EA

AutoCAD SHX Text
DRIVER SIDE REAR TIP PIPE

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
EA

AutoCAD SHX Text
PASSENGER SIDE REAR TIP PIPE

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
EA

AutoCAD SHX Text
CLAMP-2 1/2" BAND

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
EA

AutoCAD SHX Text
BOLT- 3/8-16 x 1 3/4"

AutoCAD SHX Text
6

AutoCAD SHX Text
2

AutoCAD SHX Text
EA

AutoCAD SHX Text
NUT- 3/8-16 STOVER LOCK

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
5

https://www.carid.com/billy-boat-exhaust/
https://www.carid.com/exhaust-systems.html

	Sheets and Views
	FTRU0560-Layout1




